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Good morning ,
 
As requested, a 2 pager for small business issues is attached.
 
Please be in touch if you would like anything further.
 
Kind regards,
 

Policy Analyst
 
Small Business and Trusts Unit
Business Tax Division
The Treasury, Langton Crescent, Parkes ACT 2600
phone:  
fax:  
email:  
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Effect of budget announcements on small business

 

Exactly how does small business (ie turnover less than $2m) benefit from the loss carry-back? 

The loss carry back is likely to benefit around 110,000 companies over its first 4 years of operation and around 90 per cent are small business companies.

Around 40 per cent ($280m) of the $700m to revenue cost of loss carry back will go to small businesses.

What is the value of the major small business measures - instant asset write off (and related measures) and the loss carry-back?

The instant asset write-off of assets costing less than $6,500, the simplified pooling arrangements and accelerated initial deduction for motor vehicles for all small business are estimated to cost around $3.7 billion to 2015-16.

 The loss carry-back benefit for small business is estimated to be around $280 million, giving a total benefit of almost $4 billion.

How much do small businesses that aren’t companies gain from the tax changes?

All small businesses – whether sole traders, partnerships, or companies – benefit from the AIWO and deduction for motor vehicles. 

Businesses operated by sole traders will benefit from personal income tax cuts. 

It is estimated that there are around 1.4 million individuals in receipt of business income with a taxable income for the 2012-13 year of less than $80,000 that would receive a tax cut as part of the Cleaner Energy Futures Package. 

What is the percentage & number of small companies (less than $2m turnover) that are taxable/non-taxable?

Over 90 per cent of companies have a turnover of less than $2m.

The total number of companies is around 777,000 and about 700,000 have a turnover of less than $2M. 

Around 245,000 are taxable and the remainder (455,000) are non-taxable.   

Of these small business companies around 35 per cent are taxable (that is, they have positive taxable income) and 65 per cent are non-taxable (and so may have a loss). 

What is the percentage & number of all small businesses that are companies / and are taxable/non-taxable?

[bookmark: _GoBack]About 26 per cent of all small businesses are companies (of this 35 per cent are taxable and 65 per cent non-taxable).

Is the benefit of the loss carry-back to small business companies greater than the 1 per cent company tax cut for small business companies?

The benefit to small business companies from the new carry-back is likely to be of similar magnitude to the benefit from the 1 per cent cut for small business companies. The difference is that the benefit from the loss carry-back will be directed to companies moving into a loss position rather than profitable companies who would benefit from the 1 per cent tax cut.



Other issues

How is the Government addressing complexity for small business in the tax law?

The Government appreciates that parts of the tax law such as Division 7A of the Income Tax Assessment 1936 have resulted in significant compliance and administrative costs for both business and the ATO and are committed to working with the business community and other stakeholders to address these issues.  

Note: the Review into Division 7A has not yet been made public. The (unannounced) Board of Taxation review will determine whether there are any options to simplify this complex area of law, while maintaining it as an integrity measure.

Why didn’t the Government proceed with the promise to cut the company tax rate?

The Government was not able to secure the necessary parliamentary support to pass the company tax rate cut.

The Greens may have supported the cut for small business.  Why did the Government decide not to implement the cut, even if it was only for small business?

This would have resulted in a permanent differential company rate for small business, not temporary as the Government had proposed.

The creation of a dual company tax regime for an extended period would create legislative and administrative complexity and generate significant compliance issues.  For example, a company may avoid tax by shifting its profits to a small business company to be taxed at the lower rate and allocate deductions to a large company taxed at the higher rate.  It would also discourage companies from expanding.   

Why did the MRRT legislation proceed separately from the legislation cutting the company tax rate?

The MRRT needed to pass in time for taxpayers and the ATO to make the necessary administrative and compliance arrangements.  The company income tax rate reduction only needed to pass before 1 July of the year in which it was to apply.  Proper scheduling of the bills before Parliament meant that they were planned to be introduced separately.   

 



Small business breakdown by entity type

Companies – 26 per cent of small business 

Trusts – 23 per cent of small businesses.

Partnerships – 14 per cent of small businesses.

Sole traders – 38 per cent of small businesses.
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